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N
In(z) = %) + Z(an cos(nx) + by sin(nz)) (N =0,1,2,...)

n=1

2
Gy, = 1 /f(a:) cos(nz)de (n=20,1,2,...)
., 0

1 27
b, = - /Of(a:) sin(nz)der (n=1,2,3,...)

(1) f@)=l|z| (—r<z<m0 flz+2r)=fz)0000000000
agoood

2) fla)={1 O<z<m),0 <z <2m)}0 flza+27) = f(z)0O
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2 00
(1) f&) =] (-7 <z<m)000
L "I -
/0 |z|Cos[Nzldx = ‘/O(;U)C’os[Nw]dx + ‘/_(;w)C’os[Nw]dw
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1 /7 1 /0
gIN_]:=— /(a:) * Cos[N * z]dx + = /(—a:) * Cos[N * z]dz
T

T Jo J -

h[N]:= 1 /(;:) * Sin[N « z]dz + % /(—;17) * Sin[N * z]dz

Tr.() o —T

g0 | < ,
flz, N :== -~ + Z(g[n] *x Cos[n * ] + h[n] * Sin[n * z])



N=100O0O
In := flz,1] Out ::g_wo—s[w]

-
Plot[f[x,1],{x.-4.4}.PlotRange->{-0.2,3.5}]

N=2000
4Cos
In = flx,2] Out:= g _ dCosla]

-
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N=3000
In = f[z.3] Out == 7 4Cos[z]  4Cos[3z]
2 T 9w

Plot[f[x,3].{x.-4.4}.PlotRange->{-0.2,3.5}]
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N=5000
In := f[z, 5]
m

Out . T 4Coslz]  4Cos[3z]  4Cos[5a]

2 T 9 257
Plot[f[x,5].{x,-4.4}.PlotRange->{-0.2,3.5
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N=100O0O0O

In = flz, 5]
Out = T 4Cos[z]  4Cos[3z] 4Cos[5z] 4Cos[Tx]  4Cos[9z]
2 ™ 97 257 497 81m
Plot[f[x,10],{x.-4.4},PlotRange->{-0.2,3.5}]
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N=100000
In = f[z,100]
Oout = T _ 4Cos[z]  4Cos[3z]  4Cos[5z] O — 4Cos[95z]
2 s 9m 257 90257
4C0s[97z]  4C0s[99z]
94097 9801w
Plot[f[x.100], {x.-4.4},PlotRange-> {-0.2,3.5}]
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(2) flz)={1 O<z<m),0 (r<z<2m}OOO

/O‘AJ:(CE)C'os[Nw]dw = /‘(r‘l)Cos[Nx]dx
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iN] == /(1) * Cos[N * z]dx

JIN] = l /(71) * Sin[N x c]dz

'/T‘O

il0] | S
klz_,N]:= 5 T Z(/[n] x Cos[n * z] + j[n] * Sin[n x x])

N=100O0
1 25
In := k[z,1] Out := 5t Sinja]

-
Plot[k[x,1],{x.-4,4},PlotRange->{-0.2,1.5}]

N=2000O
1 25
In == k[z,2] Out := §+ Sinfz]
T
0000 ffx,1]0000000




N=3000 ' '

In := k[z,3] Out := 1+ 28in[z] n 25@; 3]
™

Plot[k[x,3].{x.-4,4},PlotRange->{-0.2,1.5}
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N=5000
1 25 254 25in[5
In = k[z,5] Out =+ ¢ Sin[z] . Sin[3x] Sin[5x]
T 3 o7
Plot[k[x,5],{x,-4.4},PlotRange->{-0.2,1.5}]
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N=100O0O0O . . . .
Ini= k(2,5 Out = l+ 2Sin[x] N 2Sin[3zx] N 28in[5z] 2Sin[7x]
T
2Sin[9z]
91

Plot[k[x,10],{x.-4,4} PlotRange->{-0.2,1.5}]
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N=100000

In := k[z, 100]
Out = l+ 2Sin[z] N 28in[3x] N 28in[5z] 04 28in[95x] N 28in[97x] N
2. 3 57 957 97
997

Plot[k[x,100],{x.-4,4} PlotRange->{-0.2,1.5}]
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